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1) TRADE THEORY

Question No. 1 / Question ID 66 Marks: 2.00
Which rule is used to determine the direction of rotation of armature in D.C motor?
D.C Alex H 3HeR & guH &t fa=n fuffvd o= & fo foow fam &1 Suah forar Sran g2
(A) O Right hand grip rule
BY Udhs g|

(B) O Right hand palm rule

aIfg 81U &1 gl &1 fAgm
(C) O Fleming's right hand rule (Chosen Option)

T & E"ﬂ%ef Bl bl o (Chosen Option)
(D) O Fleming’s left hand rule (Correct Alternative)

TRITHRT & 9T¢ BTY &7 f19H (Correct Alternative)

Question No. 2 / Question ID 124 Marks: 2.00
Which is used to increase the insulation property of the insulating material used in the winding?
AT H Tge ST WA & 3G U Bl g & AT fdeT ST b ST 87
(A) O Petrol

-~

(B) O Diesel
SIS

(C) O Varnish (Correct Alternative) (Chosen Option)
arff=r (Correct Alternative) (Chosen Option)
(D) O Enamel paint

Question No. 3 / Question ID 468 Marks: 2.00
Which type of output transformer is used in automatic voltage stabilizer?
AT dlecol WaAEoR | fhd UHR & MMITYE TABIR T SUTNT fowar Sirar g2
(A) O Ring core type transformer
UHR B B
(B) O Static transformer
W ¢

~

(C) O Auto transformer (Correct Alternative) (Chosen Option)
3ffel SIIWTHR (Correct Alternative) (Chosen Option)

(D) O Ferrite core type transformer

DR UHR BT TABIR

Question No. 4 / Question ID 55 Marks: 2.00
What is the name of the generator as shown in the circuit?

T o Afhe & fezaman TR & SiFReR &1 19 T 87
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Question No. 5/ Question ID 64

What is the name of the speed control method of DC motor as shown in the figure?

o & exis g DC Hiex Bt if gz fafdy 1 Am w82

o LYY L+
B, D
Aq
DC 5UPPLY
i
&
i L= g
5 VYN L+
B, Dy
Ay
Q DC BUPPLY
Az
i L=

ELMI 21T

(A) O Field tapping method
Wieg ¢ fafy

Marks: 2.00




(B) O Voltage control method (Chosen Option)
=01 fafdl (Chosen Option)
(C) O Armature diverter method (Correct Alternative)
3R sTgacy fafy (Correct Alternative)
(D) O Field diverter method
Hics SMEdcR fafd

Global iTi

Question No. 6 / Question ID 218
Why the hysteresis motor is suitable for sound recording instruments?
&g RepiTeT SUHRON o forg e Rl dier Iugad i 82
(A) O Noiseless operation (Correct Alternative) (Chosen Option)
TMd YT (Correct Alternative) (Chosen Option)
(B) O Less error operation
G A CINE
(C) O High efficiency
3= Q&ldl
(D) © Smallin size
TR H Blel

Marks: 2.00

Question No. 7 / Question ID 7
Which energy is converted into electrical energy by the generator?
TRER GRT B At St B! fayd SHoit & uRkafdd forar S g2
(A) O Chemical
BRI

(B) O Mechanical (Correct Alternative)
(Correct Alternative)
(C) O Kinetic

(D) O Heat (Chosen Option)
BT (Chosen Option)

Marks: 2.00

Question No. 8 / Question ID 261

What is the cause for hunting effect in an alternators?
3feeAex B g UTd &1 1 HRUT 872
(A) O Running with fluctuation of speed

& IAR-TGE b 1Y = 6T 2
(B) O Due to over load (Chosen Option)

YR & HRUT (Chosen Option)
(C) O Due to continuous fluctuation in load (Correct Alternative)
s d fARaR JdR-deld & PRI (Correct Alternative)

(D) O Running without load
fT Tl & = @1

Marks: 2.00

Question No. 9 / Question ID 126

How many number of parallel paths are in a wave wounded 6 pole DC machine?

T d U10d 6 ¢§d DC AR H fbd THMIR Ty §2

Marks: 2.00




(A) O g
(B) O 6 (Chosen Option) GIObaI |T|

6 (Chosen Option)
(C) O 2 (Correct Alternative)
2 (Correct Alternative)

D)o 4
4

Question No. 10 / Question ID 304 Marks: 2.00
Which electronic circuit generates A.C signal without input?
DI T SAdCHe Flhe fo-1 37Ye & A.C RUd Iaa &l 872
(A) O Filter circuit
fihee widbe
(B) O Oscillator circuit (Correct Alternative) (Chosen Option)
K| gfdhe (Correct Alternative) (Chosen Option)
(C) O Ampilifier circuit
Yatid Aide
(D) O Recitifier circuit

fayart afbe

Question No. 11 / Question ID 237 Marks: 2.00
Which type of motor is used for small table fan?

BIe 2T B b T Y UPR 1 Hiex BT ST fhar Sirar 872

(A) O Shaded pole motor (Correct Alternative)
Hiex (Correct Alternative)

(B) O Universal motor

(C) O Capacitor start capacitor run motor (Chosen Option)
H Hiex (Chosen Option)
(D) O Repulsion motor

Question No. 12 / Question ID 275 Marks: 2.00
When all the 3 lamps become dark in the dark lamp method of parallel operation of two alternators?
&l STTRAC! & JHIR ETeH &t 8T o fafy # 5/ diFf o 81 81 91 &2
(A) O Terminal voltages are equal

RIR &
(B) O Frequency are same in both alternator
ST 3feeR-er # Sgil WA gl §
(C) O Voltage and power rating are equal (Chosen Option)
Jieeol 3R TTaR T SRR % (Chosen Option)
(D) O Voltage and frequency are equal (Correct Alternative)
WRE (Correct Alternative)

Question No. 13 / Question ID 381 Marks: 2.00
Why sequential control of motors are required in an industrial application?
3NN TN H Hiex & 3 R0 Bt STaxaehal i gidt 82
(A) O To reduce power consumption (Chosen Option)
P FAd P HH B & 10T (Chosen Option)
(B) O To share more loads
3{fYPH UR 1M DA & forw

(C) O To increase the accuracy of operation (Correct Alternative)

TR P FPpar EE'Ie[ & ﬁ'l'q (Correct Alternative)




(D) O To minimise the operating cost

URETE ARTd &l &H B & ol

Global iTi

Question No. 14 / Question ID 138
Which formula is used to calculate the percentage in slip of an AC 3 phase induction motor?

T 3 B SR Hier & &y § ufawrd &) 701 v & o {5 31 1 Iuai farar Siran 82
(A)O Np- Ne=Ns . 100
5

Ns %100
5

(B) O |Ng—N;
Ng
Ns—Np
Ng

Nr—Ng

X 100 | (Correct Alternative)

X 100 | (Correct Alternative)

€)O
Ns—Nr , 100 (Chosen Option)
:

Ns—Nr , 100 (Chosen Option)
:

(D)0 Ny=Ns o0

Ny

Ns %100
Ny

Nr—Ng

Marks: 2.00

Question No. 15/ Question ID 162
Which instrument is used to measure insulation resistance of a 3 phase induction motor?

3 HT IROT HIeR & YA UfaRIY B A0 & o {5 Iuesor o1 IUaNT fasa ST 872
(A) O Multimeter
Hec e

(B) O Shunt type ohmmeter (Chosen Option)
e 12U 3EHIER (Chosen Option)

(C) O Megger (Correct Alternative)
R (Correct Alternative)

(D) O Series type ohmmeter
U GHR

Marks: 2.00

Question No. 16 / Question ID 515
What is the name of the part of hydro power plant marked as 'X" as shown in the figure?

%ﬁﬁ@m&wwﬁﬁw%wmwww%m'X"@rﬁﬁ%ﬁmw%?

| ELNA5#011
| ELNa5#8011

Marks: 2.00




(A) O Turbine (Chosen Option)
(Chosen Option)
(B) O Control gate
MRl
(C) O Penstock (Correct Alternative)
URC TP (Correct Alternative)
(D) O Intake

ERLED

Global iTi

Question No. 17 / Question ID 329

Which electronic circuit produces signal waves or pulses without an input?

P T G- Fidhe o1 39YE & Rud a<ill a1 TR HT IATG BT 872

(A) O Amplifier

(B) O Detector
e

(C) O Oscillator (Correct Alternative) (Chosen Option)

FSED (Correct Alternative) (Chosen Option)
(D) O Modulator

Marks: 2.00

Question No. 18 / Question ID 317
Why negative feedback is required in amplifier circuits?

Gihe § THRIAD BISaP DI AIRIH T Rl 52

(A) O Toincrease the output voltage gain

3I3CYL dlecsl 9gM & fory

(B) O To reduce the distortion (Correct Alternative) (Chosen Option)
ﬁ?ﬁr P FAPIH S f?’l'l'{ (Correct Alternative) (Chosen Option)

(C) O Toincrease the output current gain
3T3TYC YRT oy H gfg B & g
(D) O To increase the amplification factor

U3 HRE DI dgH & forg

Marks: 2.00

Question No. 19 / Question ID 485
Which transformer is used in stepped voltage stabilizer?

WE e TaazoR H [hY TBER &1 ST foar Sirdr g2

(A) O Auto transformer (Correct Alternative)
Tel ¢ (Correct Alternative)
(B) O Stepup transformer (Chosen Option)
3[J TRIWIER (Chosen Option)
(C) O Isolation transfor\rlner

~

(D) O Air core transformer

TR HR IHIER

Marks: 2.00

Question No. 20 / Question ID 293
Which material is used for the damper winding?
SR AR & for fore wreht o1 IuaiT fosan iran 82
(A) O Copper bar (Correct Alternative)
il 9 (Correct Alternative)
(B) O Stainless steel bar
[SIES

Marks: 2.00




(C) O Castiron bar

PRC AT dR pp—
(D) O Silicon steel bar (Chosen Option) GIObaI |T|
Riferepi Wi IR (Chosen Option)
Question No. 21 / Question ID 31 Marks: 2.00

Which type of voltage is induced dynamically in a D.C generator?
D.C SFReX H fohd YR 1 dieesl =i ©U 3 URd gIdT 872
(A) O Alternating voltage (Correct Alternative)
(Correct Alternative)

(B) O Direct current voltage

T& YRT dlecst
(C) O Pulsating voltage

T dieesl

(D) O Oscillating voltage (Chosen Option)
(Chosen Option)

Question No. 22 / Question ID 38 Marks: 2.00
How does the magnetic flux of the field system completed the circuit in a generator?
& YUTTEH &1 GaDh g YT Udh STRex H Hiohe Bl ol TR Bl 87
(A) O Through the field coil and field core
HIcE Higd R Biee DR & TTHT I

(B) O Through the laminated pole core
AffACE Ui HR & Trend o

(9¥Q) Through the armature winding and armature core (Chosen Option)
STHR arEfET 3R SR SR & H1egH ¥ (Chosen Option)

(D) O Through the field core, armature core and yoke (Correct Alternative)

Bt PR, MR DR Gﬁ? NP & ATeq A (Correct Alternative)

Question No. 23 / Question ID 306 Marks: 2.00
What is the name of amplifier as shown in the figure?

ST o fomr # feaman a1 § THelite TR &1 1 o 87
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(A) O Common collector amplifier
DI Holaey TUATHRR
(B) O Class AB push pull amplifier

FAY Tail GR1 §of T AT RR
(C) © Common emitter amplifier

PHIH TR THATHIR

(D) O Class B push pull amplifier (Correct Alternative) (Chosen Option)
T &t AU gyo Q’FEI@'W (Correct Alternative) (Chosen Option)

Global iTi

Question No. 24 / Question ID 193

What is the purpose of using rotor resistance starter to start 3 phase slip ring induction motor?

3 Hal iy 7 SSaRM Hier Y& HRA & o AeR UfeRiY WId &1 IUTINT - 6T I o1 87

(A) O Reduce the rotor voltage (Chosen Option)
UeR e HH B (Chosen Option)

(B) O Increase the rotor current
e PIC §aId

(C) O Increase the starting torque (Correct Alternative)
TwIfdT i EIETE (Correct Alternative)

(D) O Reduce the power loss
faroTell o1 HHt Bl HH DY

Marks: 2.00

Question No. 25 / Question ID 87
Which motor has this characteristics curve as shown in the figure?

for Hiex ® ug faRvar as § o fos fomr o feaman mar g2

Marks: 2.00




Global iTi

i i

TORQUE

TORQUE

EL1B{S1S
EL1B{S1S

(A) O Cumulative compound motor (Correct Alternative)
Tt e wew (Correct Alternative)

(B) O Series motor
uit AR

(C) O Differential compound motor
favg® A AR

(D) O Shunt motor (Chosen Option)
i Hiex (Chosen Option)

Question No. 26 / Question ID 418 Marks: 2.00
What is the name of the part marked as "X" in industrial agitator system as shown in the figure?

fort & faamu SR Sl SiigiadR! Tome & "X & U & fafgd YR &1 A1 o1 82




Global iTi

)

ELNY2MT117

ST

ELNY2MT117

(A) O Discharge pump
ug
(B) O Feed pump
ug
(C) O Agitator tank

(D) O Agitator motor (Correct Alternative) (Chosen Option)
Hiex (Correct Alternative) (Chosen Option)

Question No. 27 / Question ID 252 Marks: 2.00
What is the supply frequency of an alternator having 6 poles runs at 1000 rpm?

1000 3RUITH TR 6 ¢@l aTal U 3feex-cR dI 3Yfd Mgy oam g7




(A) O 25Hz
25 Hz
(B) O 40 Hz (Chosen Option)
40 Hz (Chosen Option)
(C) O 50 Hz (Correct Alternative)
50 Hz (Correct Alternative)
(D) O 60Hz
60 Hz

Global iTi

Question No. 28 / Question ID 504

Which type of line insulator is used at the dead ends of the H.T overhead lines?

H.T 3fiaRgs el & 3ifad RRI R {69 UHR & A1 $Yciex BT IGANT faal STl g2

(A) O Pininsulator
A1 <

(B) O Disc insulator (Correct Alternative) (Chosen Option)
'&'ﬁaﬁ (Correct Alternative) (Chosen Option)
(C) O Stay insulator
T FYAXR
(D) O Postinsulator

TR $geie?

Marks: 2.00

Question No. 29 / Question ID 441
Which is proportional to the torque in D.C motor?
D.C Hiex § JaTgui & FHTIUTC I 9 g2
(A) O Backe.m.f
3% 3.TA.UW.
(B) O Armature current (Correct Alternative)
¢ (Correct Alternative)
(C) O Terminal voltage (Chosen Option)
RIRI &1 dlec™ (Chosen Option)

(D) O Field current
Bic YR

Marks: 2.00

Question No. 30 / Question ID 210
What is the name of the test as shown in the circuit?

fhe 7 fe@me 7T U &1 AT T 82

Try

51 >

3PH. SUPPLY 415V, 50Hz
£ TI

ELNY2ME145

@
8

ELNY2ME145

(A) O Blocked rotor test (Correct Alternative)
TGS X o (Correct Alternative)

Marks: 2.00




(B) O Open circuit test (Chosen Option)

ﬂﬁv_déﬁ(Chosen Option) Pp—
(C) O No load test GIObaI |T|
BIg IS X ol

(D) O Polarity test
gad ¢

Question No. 31 / Question ID 455 Marks: 2.00
What is the name of the circuit as shown in the diagram?

oz # fezamy 7w Tfhe &1 W @ 82

LOaD LOAD

ELMYZME10S
ELMYZME10S

(A) O Speed control of universal motor (Correct Alternative) (Chosen Option)
CARICARUELY] (Correct Alternative) (Chosen Option)
(B) O Speed control of repulsion motor
HieR &1 7fd gz
(C) O Speed control of permanent capacitor motor
R G HieR BT i fAd=r0r

(D) O Speed control of shaded pole motor
RISS Ui HIC 1 i f+a=0m

Question No. 32 / Question ID 161 Marks: 2.00
What is the function of the timer in automatic star delta starter?
TSP TR Seel WX § TR FT T/ S g2
(A) O Switch OFF at pre set time
gd Fuffvd a7 W Raa s &

(B) O Switch ON at pre set time (Chosen Option)
Uﬁﬁﬂfﬁﬁ JHY IR il'l?j\ﬁ Chosen Option)

(C) O Change from star to delta (Correct Alternative)
TR A ST H 9G4 (Correct Alternative)

(D) O Trip at over load
iR die R feu

Question No. 33 / Question ID 301 Marks: 2.00
Which is a passive component?
T FiSpd gedb HH A 8?2
(A) O Capacitor (Correct Alternative)
TYTRT (Correct Alternative)
(B) O Diode
SIS




(C) O Diac

SIH " —_
(D) O Transistor (Chosen Option) GIObaI ITI
cl SRR (Chosen Option)
Question No. 34 / Question ID 196 Marks: 2.00

Calculate the phase displacement in terms of slots for a 3 phase, 36 slots, 12 coils, 4 pole stator winding?
3 &I, 36 Wic, 12 Higd, 4 UId T ARIST & oY Wi & Ha & HaT AR Bt 70T B2
(A) O 3slots
3 slots
(B) O 4 slots (Chosen Option)
4 slots (Chosen Option)
(C) O 8slots
8 slots

(D) O 6 slots (Correct Alternative)
6 slots (Correct Alternative)

Question No. 35/ Question ID 426 Marks: 2.00
What is the name of the component marked as ‘X’ in the block diagram of AC drive as shown in the figure?

o o fot & foaman T 8, AC S15d & sl 3@ H ‘X' ¥ fafed g &1 A a1 87

o= @

EL441511

(r—+ P

1

L

(A) O D.C bus (Correct Alternative)
St s (Correct Alternative)
(B) O A.C motor
A.C AIY
(C) O Recitifier
fevert
(D) O Inverter (Chosen Option)
sﬁﬁ (Chosen Option)

(=)

EL441571

Question No. 36 / Question ID 152 Marks: 2.00
How the voltage is received in the rotor of induction motor?
S HIeX & AR H decs »d U giaT 82




(A) O
(B) O
(€)O

(D) O

By the transformer action of stator and rotor (Correct Alternative) (Chosen Option)

TR 3R AT BT g'l'\tl'qo‘lﬁ'\’ T gRT (Correct Alternative) (Chosen Option) GI b I T
Direct connection from stator obal 111
WeR Y iy day

Due to back emf produced in stator

weR ¥ Idfed 9% STHTH & HROI

Direct connection to rotor from supply

3TYft ¥ e o1 et Hay

(A) O
(B) O
(€)O

(D) O

Question No. 37 / Question ID 386 Marks: 2.00
Which type of relay is used in both A.C and D.C supply?

A.C 3R D.C 3T gl & ford YR & Rl HT IUINT foham St 82

Clapper-type armature relay (Chosen Option)
FHR THR RS (Chosen Option)
Thermal relay

Impulse relay (Correct Alternative)
fra (Correct Alternative)
Reed relay

(A) O
(B) O
(€)O

(D) O

Question No. 38 / Question ID 402 Marks: 2.00
Which DC load is represented by the DC4 standard duty cycle of contactors?

B 91 1A e, Yushedial & DC, HIM Haod b gRI ST 4T 82

Starting and stopping of series motor (Correct Alternative)

Juft Mex ot R[e3Td 3R THAT (Correct Alternative)

Startlng and stopping of shunt motor with inching and braking (Chosen Option)
SR 3R ST & 1Y Re Hier HI 71 3R ¢ BT (Chosen Option)
Resistive loads except motor loads

HIcR AIE Bl BIgDHR UfRIYD HR

Starting and stopping of shunt motor

e AR B! LI 3R FHT

2) WORKSHOP CALCULATION SCIENCE

(A) O a

(B) O

(€)O

(D) O

Question No. 1/ Question ID 525 Marks: 2.00

What is the value of a x a
axax ad x a* BT A AT §?

2yadxat?

9
9
7
7
8
8

10 (Correct Alternative) (Chosen Option)

a
a
a
a
a
a
a'% (Correct Alternative) (Chosen Option)

(A) O

Question No. 2 / Question ID 519 Marks: 2.00
Which is used to reduce the friction in machine parts?

T U H UN0T T HH B P oTU [TehT IuTNT fohaT ST 82

Petrol

~




(B) O Water
grHl

(C) O Lubricants (Correct Alternative) (Chosen Option)
@W (Correct Alternative) (Chosen Option)
(D) O Kerosene

firt 1 da

Global iTi

Question No. 3 / Question ID 527
What is the unit of strain?

faepfa 1 s =1 87

(A) O Kglecm?
Kg/cm2

(B) O Newton/metre?
Newton/metre?

(C) O Metre
Metre

(D) O No unit (Correct Alternative) (Chosen Option)
No unit (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 4 / Question ID 530
What is denoted as 'I'?
312 (1) fren! e v 87
(A) O Interest (Correct Alternative) (Chosen Option)
: (Correct Alternative) (Chosen Option)
(B) O Principal
ORI

(C) O Year
ERN

(D) O Rate
T

Marks: 2.00

Question No. 5/ Question ID 524
What is the formula for (a-b)2?
(a-b)? BT G AT 82
(A) O -a?-2ab-b?
-a® - 2ab - b?
(B) O a2+ 2ab + b2
a2 + 2ab + b?
(C) O a?-2ab+b? (Correct Alternative) (Chosen Option)
a2 - 2ab + b? (Correct Alternative) (Chosen Option)
(D) O a?-2ab - b?
a? - 2ab - b?

Marks: 2.00

Question No. 6 / Question ID 531
How the 'Principal' is denoted in simple interest calculation?
YR STl § AiRa & ford e § fefua fasan S g2
(A) O 'R'(Chosen Option)
'R' (Chosen Option)
®O 1
©Co "

n

Marks: 2.00




(D) O 'P'(Correct Alternative)
'P' (Correct Alternative) " ——
Global iTi

3) ENGINEERING DRAWING

Question No. 1 / Question ID 545 Marks: 2.00
Which is a symbol of DC motor?

DI G DC HIe BT Uil g2
(A) O

(B) O

€O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




(D) O

Global iTi

Question No. 2 / Question ID 536
Which part regulates the heat in automatic iron?
B T U Waferd arg & o ) Fafid swar g2
(A) O Heating element (Chosen Option)

(Chosen Option)
(B) O Asbestos sheet
R

(C) O Thermostatic switch (Correct Alternative)

yuierfes f&m (Correct Alternative)

(D) O Pressure plate

Marks: 2.00

Question No. 3 / Question ID 552
Which is the NOT gate in the following picture?

g i § NOT e I T |2

Marks: 2.00




WO (c t Alternative)
orrec ernative . L]
Global iTi

(Correct Alternative)

(B) O

(Chosen Option)

(Chosen Option)

(€)O

(D) O

Question No. 4 / Question ID 548 Marks: 2.00
Choose the symbol for main fuse board without switches (P).

o1 Fera () & o W &1 & forw e |
(A) O

(B) O




@ %/ /// (Ghosen pton)

(Chosen Option)

(D) O

(Correct Alternative)

(Correct Alternative)

Global iTi

Question No. 5/ Question ID 550
Identify the symbol for direct and alternating current.

& 3R UITadf Bhc & o1t Udies &l ug<a B3
(A) O

(B) O

(Correct Alternative)

(Correct Alternative)

(€) O (Chosen Option)
(Chosen Option)

Marks: 2.00




Global iTi

Question No. 6 / Question ID 555 Marks: 2.00
Which is nose pliers?

ol WAR DI 182
(A) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(B) O

(€)O




Global iTi

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 619 Marks: 2.00
If a teammate is struggling to complete their assigned task, what should you do?
gfe A9 o1 D1 Tt o FRefid ord @1 B & dud % X817, aF AT a1 HRAT ATeu?
(A) O Ceriticize them for not being efficient
T8I & HRUT IAD! AT B ANMGY
(B) O Offer to help and support them to complete their task (Correct Alternative) (Chosen Option)

I7%P TRS Bl ORI PSP fore 3% o 3R UE SATH HIAT G114y (Correct Alternative) (Chosen
Option)

(C) O Compilain to the superior about their lack of contribution
3% NG B HH & TR H JUIRIR F HH BT AT

(D) O Ignore their struggle and focus on your own tasks

J9P TUY Bl ToR3IETS B 3R 3T BT W A dbigd Bl AT

Question No. 2 / Question ID 610 Marks: 2.00
What is workplace etiquette?
"HRIRT R RIFER(ECEHT) F1 572
(A) O Proper behaviour and workplace professionalism (Correct Alternative) (Chosen Option)
aER 3R ST ATTIIAGAT (ﬁﬂ)‘-‘«’lﬂﬁ’lﬂ) (Correct Alternative) (Chosen Option)
(B) O Everyday manners outside of work

BT & JTER ASRT & RIFER
(C) O Gossiping
AT

(D) O Casual behaviour with colleaagues
[ & 1Y ST (P 3e) TAER

Question No. 3 / Question ID 677 Marks: 2.00
Which one is a social networking site?
IRt Aeafdh rge HiF Il 72
(A) O Outlook express
T3 TRUH
(B) O Lotus notes

S

(C) O Mozilla

(D) O Face book (Correct Alternative) (Chosen Option)
W (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 620 Marks: 2.00




is influenced by rapid change in technology

e 3 9ol Q sede d yHifad @
(A) O Working capital
EAURIGRY

(B) O Future of work (Correct Alternative)
BT YIS (Correct Alternative)
(C) O Workforce (Chosen Option)
(Chosen Option)
(D) O Nature of work

B P Uhid

Global iTi

Question No. 5/ Question ID 559
In your resume, which information has less importance?
3% SravsTel § S I THSRT HH Hgd 7l 87
(A) O Skill training completed (Chosen Option)
Efvf Y DI Ufneror (Chosen Option)
(B) O Expected salary (Correct Alternative)
(Correct Alternative)

(C) O Experience

3{YHdg
(D) O AQualification

Marks: 2.00

Question No. 6 / Question ID 716
How can Instagram, linkedIn, and YouTube help you in finding a job?
eI, foidss 3R gega SMUs! Thst g H $ Hag B Jhd 872
(A) O Its available in mobile (Chosen Option)
g AEsd UR IUA g (Chosen Option)
(B) O Its economical
g e
(C) O Asinformed by others
ST 3 3 AT gRT ST TR g

(D) O Connecting you with company, professionals faster (Correct Alternative)

3TUH! HUT, b A deil \_rﬁ?; |8 (Correct Alternative)

Marks: 2.00

Question No. 7 / Question ID 700
Which one is essentially required to receive communication by Email?

0T R HRFHTH U HRA & T Hfard =0 I 7 I 82

(A) O Email account (Correct Alternative) (Chosen Option)
3[PT3C (Correct Alternative) (Chosen Option)
(B) O Printer
fiiex

(C) O Laptop
Auery

(D) O Desktop
Sl

Marks: 2.00

Question No. 8 / Question ID 583
Role models people to follow them
WWW@WWG’T} Role models people to follow them

(A) O motivate (Chosen Option)
motivate (Chosen Option)

(B) O inspire (Correct Alternative)
inspire (Correct Alternative)

Marks: 2.00




(C) O elevate
elevate

(D) O instruct
instruct

Global iTi

Question No. 9 / Question ID 728
The process of learning a completely new skill is called

Teh QUicHT =TT BIIet YRa o) Ufgham by g I §

(A) O Upskilling (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(B) O Skilled worker
fepes g

(C) O Semi-skilled
aff-Rpee
(D) O Reskilli.ng

Marks: 2.00

Question No. 10 / Question ID 676
Which one is a search engine?

T $9H DI AT 8?2
(A) O Flicker
IPNERY

(B) O Face book

(C) O Google (Correct Alternative) (Chosen Option)
T[ITT (Correct Alternative) (Chosen Option)
(D) O Hotmail

glcHd

Marks: 2.00

Question No. 11 / Question ID 624
Which among the following is self-employment idea?
FafRed o 9 &F 91 76 W-UR fa9R 82

(A) O Freelance tailoring Service

CSIURSIER

(B) O Boutique owner
3R

(C) O Home catering service

CZURSIER

(D) O All the options (Correct Alternative) (Chosen Option)

It fawea (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 12 / Question ID 761
What should you do before making a choice at work?

PR W B3 [dhed 1 I Uga MU T HAT AIMGE?

Marks: 2.00

(A) O Look at the details, listen to others' ideas and choose (Correct Alternative) (Chosen Option)

faa=on &t %ET-IT, m CACEINKD] g1 3R g1 il'l'%q (Correct Alternative) (Chosen Option)

(B) O Don’t discuss with others

IRl & 1Y fS¥Hy 151 H=A1 AT
(C) O Don’t think too much

ERE M EHESIERIIS|IHY
(D) O Take immediate decision

X FferT o =fee




Question No. 13 / Question ID 611 Marks:2.00
Which of the following is considered as appropriate workplace behaviour? Global |T|
fafafed & 9 f5 sriwd W IfRad sgggR 7T o 872
(A) O Interrupting others during meetings
T & SRA IRl &I &g T A1

(B) O Talking loudly on the phone
B TR St SHTars] § dTd Bl

(C) O Maintaining a clean workspace (Correct Alternative) (Chosen Option)
T PIAT gHTY ¥GHT (Correct Alternative) (Chosen Option)

(D) O Being late to work regularly
fFrafid U 9 &1 & B R g

Question No. 14 / Question ID 731 Marks: 2.00
On completion of your ITI training what is the first step to get a job
3T 1T UFRIEUT & TR 81 TR A1l U & ol Ugal HeH ol §
(A) O applylng for jobs (Correct Alternative) (Chosen Option)
TNeial & ﬁl’({ 3T ST (Correct Alternative) (Chosen Option)
(B) O report for work
BT & forg Raré
(C) O wait for job offer
T B URTHRT BT Ul B

(D) O joining letter

Question No. 15/ Question ID 791 Marks: 2.00
If you want to give people relevant information about you and your business in an easy way, you will
T ST I BT ST SR 3T I & IR H ST a8 | TS THSRT 1 =18 8, O 3 |
(A) O verbally tell them when they ask (Chosen Option)
o9 3 g df M8 =4 § I8 ¢ (Chosen Option)
(B) O write on a piece of paper and give
TP DTS & Tha IR [AadR ¢ &
(C) O ask them to search on Google
I Google Wﬁwaﬁaﬁ

(D) O give them your business card (Correct Alternative)

I8 YT fIST9 BT € (Correct Alternative)

Question No. 16 / Question ID 634 Marks: 2.00
Which is an 'App' based Gig economy, helps people in part time job?
S I T T e T SHIATHT 8, S U1 eed Siig $H=- ardl ANl &1 Aag Hal 872
(A) O Swiggy (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Home catering
HefaT

(C) O Independent contractor
WA
(D) O Permanent employee

Question No. 17 / Question ID 775 Marks: 2.00
If your first design of design thinking doesn't work, what should you do?
gfe fewme RifhT o1 MUt g fews BT 781 B 8, df 3MUD! T BT IMeT?
(A) O Giveuponit

SIS o1 1Ry




B) O Purchase some other design

IS 3R feure Wiler gy GIObaI |T|

(C) O Make somethlng else
FS 3R §HT AT
(D) O Ask for feedback and try to improve (Correct Alternative) (Chosen Option)
AT 3R JUR I BT YA HIAT qIfeq (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 625 Marks: 2.00

Migration of work means

BT & RIFFRU FT 3 §

(A) O going to a different place to find a job (Correct Alternative)
EICa| Eef & ﬁ—nz it §'\‘ﬁ VYT YR SITHT (Correct Alternative)

(B) O working in different shifts (Chosen Option)
3[TT-3(THT fR7%e H HIH HIAT (Chosen Option)

(C) O shifting the industry
FENT B RIMIARA BT

(D) O shifting of profession
BRICIRYIEIGRY

Question No. 19 / Question ID 735 Marks: 2.00
Appropriate workplace etiquette
SUYdd
(A) O being late
&
(B) O being punctual (Correct Alternative)
THY BT UTe g7 (Correct Alternative)
(C) O talking loudly
Sl SmaTel ® S1d FHReAl
(D) O interrupting (Chosen Option)
AJYTq STAAT (Chosen Option)

Question No. 20 / Question ID 805 Marks: 2.00
If someone wants to sell home made products, what they have to do, to grow the business?
TR P1E W H T4 IS ST I8 § ) I IR TG b 1T o1 HA1 ghTT?
(A) O Keep doing the same thing without any changes
foret ST & a8 HTH HRd 381 ey
(B) O Find shopkeepers and build marketing with them. (Correct Alternative) (Chosen Option)
IPFIGRI DI g& B MR ST AT HIPH 131 g1 AMRT (Correct Alternative) (Chosen Option)
(C) O Wait for an opportunity to grow the business
AU §GH & TR BT UdIel B! 1T

(D) O Only sell to her neighbours
BHad I¥db TSIl B g o1 AT

Question No. 21 / Question ID 810 Marks: 2.00
If some one wants to apply bank loan for their business, their business plan should have
U B 0 R % ForT S T ST BT Tl 2, A SUF Mg @A gFT ey
(A) O challenges about the business along with solutions (Correct Alternative)
AT & IR A gAIfaal & J1Y-J14 U Y (Correct Alternative)
(B) O have only the idea and name of the business
o &1 FHaq srefear ik 9|

(C) O total cost of the business without any details

fa1 fooefl feced & foomy o1 pa arra




(D) O business profit details (Chosen Option)

Uifthe fged (Chosen Option) L
Global iTi
Question No. 22 / Question ID 691 Marks: 2.00
We use Google maps to follow the to reach a place.

fod = e Ug=H & i gH T el B b 1T TTeT ATg BT IUANT R B
(A) O destination
SReAzH

(B) O direction (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O demark
ST

(D) O diste_mce

Question No. 23 / Question ID 579 Marks: 2.00
Complete the sentence with suitable describing words
There is water scarcity in the locality. The area is
Iferd qUHTHS Tsal I ITed TR B |
There is water scarcity in the locality. The area is
(A) O dry (Correct Alternative) (Chosen Option)
dry (Correct Alternative) (Chosen Option)
(B) O uneven
uneven

(C) O noisy
noisy

(D) O boring
boring

Question No. 24 / Question ID 647 Marks: 2.00
What is the benefit of self-employment?
TRISR ¥ &1 A1 872
(A) O Directly earning from your work (Correct Alternative) (Chosen Option)
3+ HH I A ?:FTI'I'Sf (Correct Alternative) (Chosen Option)
(B) O Fixed working hours
D & Figd be
(C) O Limited control over your tasks
3T STl IR fAftes derd
(D) O Monthly salary payment
I YA

Question No. 25 / Question ID 757 Marks: 2.00
Which of the following is a good work habit?
frafafead # @ o1 I 11e a& gfae g7
(A) O Not giving up when something goes wrong (Correct Alternative) (Chosen Option)
PO Mad 81 R R T8l 91T (Correct Alternative) (Chosen Option)
(B) O Getting tensed when work is challenging
ST AUl g TR TR g STl
(C) O Choosing easy tasks
ST HTAT BT IT HAT
(D) O Not following workplace rules

HRIRE fRow &1 ured 7 AT
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